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(b) The set of all possible combinations for X1 +X2 = 7 is

[1, 6], [2, 5], [3, 4], [4, 3], [5, 2], [6, 1]

Since there are six possibilities out of the 36 possible outcomes for rolling a dice,
the probability of X1 +X2 = 7 is 1
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(c) The probability that X1 6= 2 is 5
6 and the probability that X2 ≥ 4 is 1

2 since
4,5,6 are possibilities out of 6.
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5
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(a)
P (A ∩B) = 0.4 + 0.7− 0.9 = 0.2

(b)
P (Ac ∩B) = 0.5

(c)
P (A−B) = 0.4− 2 = 0.2
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(d)
P (Ac −B) = 0.6− 0.5 = 0.1

(e)
P (Ac ∪B) = 0.1 + 0.5 = 0.6

(f)
P (Ac ∩B) = 0.2
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